Fractions Problems
Mary has 8 sweets. She shares her sweets and gives half to her friend. How many sweets do they each have?


There are 12 cars in the car park. Half of them are red and the rest are blue. How many are blue?


Fred and his friend have 5 apples each after they shared them equally. How many apples did they start with?


There are 14 tins on the shelf. Half of them are tins of beans. How many tins of beans are on the shelf?


Stephanie has a piece of string that is 16cm long. When she cuts it in half how long will each piece be?


[bookmark: _GoBack]Megan’s toy car is 18cm long. Alice says her toy car is only half as long. How long is Alice’s toy car?


Leo lost half of his marbles. He was left with 12 marbles. How many marbles did he start with?


There are 8 pieces of fruit in the fruit bowl. One quarter of them are apples. How many apples are in the bowl?


There are 20 flowers in the garden. One quarter of them are roses. How many of the flowers are roses?




